HYUNDAI

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




HYUNDAI

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




Rot sy

= Land HYUNDAI
ACCENT 1994-2000
|
HY-13103 HY-13204
Axial Joint Axial Joint
-—t Front Inner Front Inner 2 =
(1.3It) M14x1,5-L=296mm (1.51t) M14x1,5-L=297mm
5654243001 5775522000
|
HY-12221 HY-11205
- Tie Rod End Ball Joint
Front Front
M14x1.5Rht 5450331600
5682037010
HY-14206 HY-16225

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

]
'===':— Front
L=133.5mm Front Right Lower
5482522000 9450122100
|
HY-16226 HY-20415
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
Left Rear
B Front Left Lower
5455522101
5450022100
|
HY-20414 HY-20416
Control Arm Bushing Control Arm Bushing
Front Right Outer Center
5455622100 5455122200
ACCENT 2000-2005
HY-16239 HY-16240
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

5450125000 5450025000
HY-18230 HY-14235
Suspension Control Arm Repair Kit Stabilizer Link
Front Front Right
k620106 ~ -=60mm
5483025020

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land HYUNDAI
ACCENT 2000-2005
HY-14236 HY-14237
Stabilizer Link Stabilizer Link @
Front Left Rear
L:60mem |_=e1a 37mm bz—___—;;:::,;
5483025010 5583025000
HY-13232 HY-12231
Axial Joint Tie Rod End
Front Front
M14x1,5-L=304mm M14x1,5Rht
5777525000 5682025000
HY-11205 HY-20474
Ball Joint Control Arm Bushing
Front Rear
5450331600 5450125000
HY-20475
Control Arm Bushing
Center
5455125000
ACCENT i, MC 2005-2010
| |
HY-13343 HY-12341
Axial Joint Tie Rod End
T e— = Front Front Right
M14x1,5-L=195.5mm M14x1,5
57724-1E000 568201E900
|
HY-12342 HY-11345
N Tie Rod End Ball Joint
k\__‘_ Front Left Front
; o M14x1.5  517601G000
56820-1E000
|
HY-16348 HY-16349

Suspension Control Arm

Front Right Lower
PowerSteering

54501-1E100

Suspension Control Arm

Front Left Lower
PowerSteering

54500-1E100

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 5 info@parsrot.com



Rot sy

= Land HYUNDAI
ACCENT i, MC 2005-2010
HY-16350 HY-16351
Suspension Control Arm Suspension Control Arm
Front Right Lower Front Left Lower

E.P.SPowerSteering E.P.SPowerSteering
54501-1E000 54500-1E000

HY-14346 HY-14347
Stabilizer Link Stabilizer Link

Front Right Front Left
L=285mm L=285mm

548401G500 548302C000

HY-20448 HY-20633

Control Arm Bushing Control Arm Bushing
Center Rear

54551-1E000 545841G000

IV, RB

HY-20633 HY-20448

Control Arm Bushing Control Arm Bushing
Rear Center

545841G000 54551-1E000

HY-13233 HY-12291
Axial Joint Tie Rod End

Front Front Right
M16X1,5-L=218mm M16X1,5

565400U500 568201W090

HY-11290 HY-16298

Ball Joint Suspension Control Arm and Ball Joint

Assembly
Front Lower

Front Right Lower
545303X000

545011R000

HY-16299 HY-14296

Suspension Control Arm and Ball Joint Stabilizer Link =
Assembly 7

Front
Front Left Lower L=282mm

545001R000 548302V000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 6 info@parsrot.com



Rot sy

= Land HYUNDAI
ACCENT IV, RB 2011 after
|
HY-12292
Tie Rod End
Front Left
M16X1,5
568201W000
ATOS PRIMA/AMICA 1998-2008
|
HY-13603 HY-12201
Axial Joint Tie Rod End
D Front Front
M12x1.25Rht-L=265.7mm M12x1,25Rht
5777502000 MB912076
|
@ HY-11605 HY-16608

Ball Joint Suspension Control Arm

5453002050 5450102051

HY-16609 HY-14607

Suspension Control Arm Stabilizer Link

Front Left Lower Front

5450002051 5482002000

|
|
Front Front Right Lower A
|
|

HY-20416 HY-20414
Control Arm Bushing Control Arm Bushing
Center Front Right Outer
5455122200 5455622100

HY-20415

Control Arm Bushing
Left Rear
5455522101

TOURING 1995-2000

HY-11205 HY-12221

Ball Joint Tie Rod End

Front Front
5450331600  M14x1.5Rnt
5682037010

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

7 info@parsrot.com



Rot sy

= Land HYUNDAI
3rd Gen, XG 2001-2005
|
HY-11565
Ball Joint
Front Upper
5440338A00
4th Gen, TG 2005-2011
|
HY-11575 HY-16578
Ball Joint Suspension Control Arm and Ball Joint
Assembly

Front Lower

Front Right Upper

544303K000
544203F601
|
HY-16579
Suspension Control Arm and Ball Joint
Assembly
Front Left Upper
544103K000
1996-2002
|
HY-13513 HY-14310
Axial Joint Stabilizer Link - -
Front Front
M14x1,5-L=316mm L=71mm ’ b
5773029001 5483029000
|
HY-12221
Tie Rod End
Front
M14x1,5Rht
5682037010
COUPE GK 2002-2009
| |
> HY-11205 HY-13503
-
'I_%:‘ Ball Joint Axial Joint
Front Front s
5450331600 M14x1,5-L=322mm
\ ) 5778526200

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= [and
COUPE GK
HY-11525 HY-16528
Suspension Control Arm and Ball Joint

= Ball Joint

Front Lower

Assembly
Front Right Lower

HYUNDAI
2002-2009

5450338A00
545012C000
HY-16529 HY-14311
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Rear
Front Left Lower L=130mm
545002C000 5553029000
HY-14526 HY-14527
P~ Stabilizer Link Stabilizer Link
! Front Right Front Left
548402C00 548302C00
HY-14347 HY-14346
Stabilizer Link Stabilizer Link
‘ ‘ Front Left Front Right
L=285mm L=285mm
548302C000 548401G500
HY-12231
Tie Rod End
Front
M14x1,5Rht
5682025000
1st Gen 2015 after
HY-121001 HY-121002
Tie Rod End Tie Rod End
Front Right Front Left
56825M0000 56820M0000
ELANTRA 1st Gen, J1 1990-1995
.|
HY-12301 HY-11105
Tie Rod End Ball Joint
Front Outer Front Upper
M14x1.5 5453024400
5682002500

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

9

info@parsrot.com



Rot sy

mw Land HYUNDAI
ELANTRA 3th Gen, XD 2000-2006
|
HY-14311  KI-19231
Stabilizer Link Lateral Arm P~
Rear Rear Lower Front | : \
L=130mm  552102F000 A
5553029000 '
| |
KI-19232 HY-16318
Lateral Arm Suspension Control Arm and Ball Joint
Assembly
Rear Lower Rear
Front Right Lower
552202F000
545012D002
|
HY-16319 HY-14510
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left Lower L=52mm
545002D002 5483034500
HY-13503 HY-12231
Axial Joint Tie Rod End
- e { ' Front Front
M14x1,5-L=322mm M14x1,5Rht
5778526200 5682025000
|
<> HY-11205 HY-20671
>
= -} Ball Joint Control Arm Bushing
|
Front Front Inner
5450331600 545512D000
( )
HY-20670
Control Arm Bushing
Center
545842F000

5th Gen, MD/UD

2012-2015

HY-20633

Control Arm Bushing
Rear
545841G000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

HY-20833

Control Arm Bushing
Front Right Lower Inner
545513X000

parsrot.com

info@parsrot.com



—
sy L and

ELANTRA

5th Gen, MD/UD

HYUNDAI
2012-2015

HY-14296

—_— Stabilizer Link

HY-11290

Ball Joint

Front Left Lower
54530F2000

Front Front Lower
L=282mm 545303000
548302V000
HY-12382 HY-16328
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left
M16X1,5 Front Right Lower
HY-16329 HY-16478
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
545003X000 545013Y000
HY-16479 HY-13323
Suspension Control Arm and Ball Joint Axial Joint
Assembly
Front
Front Left Lower M16X1 ,5-L=227mm
545003Y000  565403%000
HY-12381 HY-201056
Tie Rod End Control Arm Bushing
Front Right Front Lower Outer
M16X1.5  545003v000
56820A6090
AD
HY-13623 HY-11624
Axial Joint Ball Joint
Front Front Lower
56540F2000 54530F2100
HY-11625 HY-16628
Ball Joint Suspension Control Arm and Ball Joint

Assembly
Front Right Lower
54501F2000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land HYUNDAI
ELANTRA AD 2016 after

HY-16629 HY-16628N

Suspension Control Arm and Ball Joint Suspension Control Arm

Assembly
Front Right Lower

54501F2000

Front Left Lower

54500F2000

HY-16629N HY-14620

Suspension Control Arm Stabilizer Link
Front Left Lower Front
54500F2000 54830F2000

HY-12621 HY-12622
Tie Rod End Tie Rod End
Front Right Front Left
56825F2000 56820F2000

J2/RD 1995-2000

HY-14311 HY-14310

|
Stabilizer Link Stabilizer Link ~ -
Rear Front
L=130mm L=71mm ’ b
|
- T
|

5553029000 5483029000
HY-11205 HY-13103

Ball Joint Axial Joint

Front Front Inner
5450331600 (1.3It) M14x1,5-L=296mm
5654243001
MI-12301
Tie Rod End
Front
MB616286
ELANTRA Touring Wagon 2007-2011

HY-13373 HY-12371

Axial Joint Tie Rod End

0 Front  Front Right

M14x1,5-L=156.5mm M14x1,5
565402H000 568202H090

|

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 12 info@parsrot.com



Rot sy

= Land HYUNDAI
ELANTRA Touring Wagon 2007-2011
HY-12372 HY-11375
Tie Rod End Ball Joint
Front Left Front
M14x15  517602G000
568202H000
HY-16378 HY-14377
Suspension Control Arm Stabilizer Link
Front Right Lower Rear
545012H000 555302H000
HY-16379 HY-14376
Suspension Control Arm Stabilizer Link
Front Left Lower Front
545002H000 ~ L=243.5mm
548302H100
HY-20702 HY-20711
Control Arm Bushing Control Arm Bushing
Lower Lower
545842H000 545512H000

Front Right Lower
54501A6200

HY-12381 HY-12382
Tie Rod End Tie Rod End
Front Right Front Left
M16X1,5 M16X1,5
56820A6090 56820A6000
HY-13383 HY-11380
Axial Joint Ball Joint
Front Front
56540A6000 5453035100
HY-16388 HY-16389
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

54500A6200

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 13 info@parsrot.com



—
sy L and

HYUNDAI

ELANTRA GT

2011-2016

HY-16388N

P Suspension Control Arm

Front Right Lower

HY-16389N

Suspension Control Arm

Front Left Lower

54501A6200 54500A6200
|
HY-14386 HY-14296
Stabilizer Link Stabilizer Link
Rear Front
555403R000  L-282mm
548302000
EXCEL 1994-1998
| |
o HY-11205 HY-13103
'Ii_l. Ball Joint Axial Joint
Front Front Inner - T
5450331600 (1.3It) M14x1,5-L=296mm
{ ) 5654243001
| |
HY-12221
>
Tie Rod End
Front
M14x1,5Rht
5682037010
SCOUPE (U.S.A) 1990-1994
|
HY-11105 HY-12101 -
Ball Joint Tie Rod End _“;
Front Upper Front 1}
5453024A00 5682021110 ﬂ
|
HY-16125 HY-16126
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint —
Assembly Assembly

Front Right Lower
5450324000

Front Left Lower

5450224000

HY-16125N

Suspension Control Arm
Front Right Lower
5450324101

HY-16126N

Suspension Control Arm
Front Left Lower

5450224101

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

X2

HYUNDAI

1990-1995

HY-16126N

Suspension Control Arm

Front Left Lower

HY-16125N

Suspension Control Arm

Front Right Lower

5450224101 5450324101
]
HY-16126 HY-16125
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

Front Right Lower

5450224000 5450324000
]
\’ HY-12101 HY-11105
;1 Tie Rod End Ball Joint
i) Front Front Upper
5682021110 5453024A00
GALOPPER | 1998-2003
|
MI-12504 MI-11105 -
& TieRod End  Ball Joint e
Front Outer Front Upper
M16x1,5Lht MB109585 ]
MB315775 ‘ »
|
MI-11506
Ball Joint
Front Lower
MB176308
GENESIS BH 2008-2014
| |
HY-14650 HY-14656
~~ Stabilizer Link Stabilizer Link —_
. Rear Front Right
555303M000 548403M000
HY-14657
Stabilizer Link
Front Left
548303M000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

15

info@parsrot.com



Rot sy

mw Land HYUNDAI
GETZ (TB) 2002-2011
HY-13703 HY-12502
Axial Joint  Tie Rod End Er
= i m e—— Front Front
M14x1,5 M14x1,5Rht
577751C000 568203B000
]
HY-16725 HY-16726
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
545011C010 545001C010
]
HY-14710 HY-14711
Stabilizer Link Stabilizer Link ;
Front Right Front Left L_ = ———‘
L=202mm L=202mm ~
548401C000 548301C000
|
HY-20448 HY-20447
Control Arm Bushing Control Arm Bushing
Center Rear
54551-1E000 545011C000
HY-11205
Ball Joint
Front
5450331600
\ )
H1 2008 after
HY-13270 HY-13273
Axial Joint Axial Joint
Left Front Right
M14x1,5-L=231mm M14x1,5-L=231mm
577244H000 577244H100
HY-12271 HY-12272
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
568204H100 568204H000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

HYUNDAI
2008 after

HY-11274
Ball Joint

Front Lower

HY-16288

Suspension Control Arm and Ball Joint
Assembly

D=@20mm Front Right Lower
545303J000 545014H100
HY-16289 HY-16288N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
545014H100
545004H000
HY-16289N HY-14275
Suspension Control Arm Stabilizer Link
Front Left Lower Front Left
545004H000  -=275mm
548404H000
HY-14276 HY-14277
Stabilizer Link Stabilizer Link
Front Right Rear Right
L=275mm L=85mm
548304H000 555404H000
HY-14278 HY-20753
Stabilizer Link Control Arm Bushing
Rear Left Front Right Lower Outer
L=85mm  545014H100
555304H000
HY-20754

Control Arm Bushing
Front Right Lower Inner

545014H100

H100 PICK-UP 1992-1997

MI-13204

Axial Joint

Front
ManuelSteering M14x1,5Rht-L=293mm

MR455425

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

MI-11205
Ball Joint
Front Lower

MB176309

|
(o

o

=’

} =1
(]
L -

parsrot.com

17

info@parsrot.com



—
sy L and

H100 PICK-UP

HYUNDAI

1992-1997

=

H100 PICK-UP

MI-11206 MI-16227N
Ball Joint Suspension Control Arm
Front Upper Front Right Lower
MB527349  LOwer
MB349944
MI-16228N

Suspension Control Arm

Front Left Lower
Lower

MB349943

]

1997-2004

HY-13263 HY-12251
Axial Joint Tie Rod End
— ey ™%y Front Front
M16x1.5-L=301mm M16x1.5
577304F000 5682047500
- MI-12201 HY-16427
d Tie Rod End Suspension Control Arm and Ball Joint

Front Outer

Assembly

M14x1,5Rht Front Right Lower
Lower
MB527650
545404B001
HY-16428 HY-16427N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower Lower
Lower
545404B001
545104B001
HY-16428N MI-11106
Suspension Control Arm Ball Joint

Front Left Lower
Lower

545104B001

Front Lower

MB241818

HY-20227

Control Arm Bushing
Lower

5454043152

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

447

parsrot.com

info@parsrot.com



—
sy L and

HYUNDAI

————— _______ _____________________________________—— "]
H100 VAN 1993-2004

=

MI-16226 HY-16228N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Upper
Front Left Lower
5443043005
MB598017
HY-16229N HY-16228
Suspension Control Arm Suspension Control Arm and Ball Joint
Assembly
Front Left Lower
Front Right Upper
5441043005 Upper
5443043005
HY-16229 MI-16225
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
Upper  \B598018
5441043005
MI-12201 MI-11206
Tie Rod End Ball Joint
Front Outer Front Upper
M14x1,5Rht MB527349
MB527650
MI-11205  MI-13204
Ball Joint Axial Joint
Front Lower Front

MB176309

ManuelSteering M14x1,5Rht-L=293mm
MR455425

|

1997-2004

2008-2013

Front Right Lower
545010X000

HY-20227
Control Arm Bushing
Lower
5454043152
(PA)
HY-16398 HY-16399
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

545000X000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land HYUNDAI
10 (PA) 2008-2013
|
HY-14396 HY-13393
— Stabilizer Link Axial Joint N
Front Right Front A
L=229,5mm M12x1,25-L=296mm
54840B4000 577240X000
HY-23392393 HY-12392
Steering Tie Rod Assembly Tie Rod End
Front Front
577240x000 ~ M12x1.25
568200X900
KI-11405 HY-14397
Ball Joint Stabilizer Link
Front Lower Front Left
5453007000 ~ --229.5mm
54830B4000
HY-20641 HY-20642
Control Arm Bushing Control Arm Bushing
Center Lower
5455107000 5458407000
120 (PB,PBT)
|
HY-20633 HY-16368

Control Arm Bushing

Suspension Control Arm and Ball Joint
Assembly

Rear
Front Right Lower
545841G000
545011J500
HY-16369 HY-14366
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front Right
Front Left Lower L=216mm
545001J500 548401J000
HY-13363 HY-12361
Axial Joint Tie Rod End
Front Front Right
M16x1,5-L=222mm M16x1,5
577241J000 568202K050

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land HYUNDAI
120 (PB,PBT) 2008-2014

HY-12362 HY-14367
Tie Rod End Stabilizer Link

Front Left Front Left
M16x1,5 L=216mm

568202K000 548301J000

HY-20448 HY-11205

Control Arm Bushing Ball Joint
Center Front

54551-1E000 5450331600

Il 2014 after

HY-11290 HY-13453
Ball Joint Axial Joint
Front Lower Front

545303X000 56540C8000

HY-12451 HY-12452
Tie Rod End Tie Rod End

Front Right Front Left
A=L-78MM/C=M14X1.5 A=L-78MM/C=M14X1.5

56820C9000 56820C8000

HY-16458 HY-16459

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Front Left Lower

54501C8000 54500C8000

HY-14450 HY-201065

Stabilizer Link Control Arm Bushing

Front Front Lower
L=282mm  54501c8000
54830C8000
FD

HY-19374 HY-14377

Lateral Arm Stabilizer Link
Rear Rear

552502H000 555302H000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 21 info@parsrot.com



—
sy L and

HYUNDAI
FD 2007-2011
HY-16378 HY-14376
Suspension Control Arm Stabilizer Link
Front Right Lower Front
545012H000 ~ L=243.5mm
548302H100
HY-16379 HY-11375
Suspension Control Arm Ball Joint
Front Left Lower Front
545002H000 517602G000
HY-12372 HY-12371
Tie Rod End Tie Rod End
Front Left Front Right
M14x1,5 M14x1,5
568202H000 568202H090
HY-13373 HY-20711
Axial Joint Control Arm Bushing
Front Lower
M14x1,5-L=156.5mm 545512H000
565402H000
HY-20702
Control Arm Bushing
Lower
545842H000
GD 2011-2017
HY-20833 HY-20832

Control Arm Bushing

Front Right Lower Inner

Control Arm Bushing

Front Outer

545513X000 54584A6000
HY-14296 HY-12381
Stabilizer Link Tie Rod End
Front Front Right
L=282mm M16X1,5
548302V000 56820A6090

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

22

info@parsrot.com



Rot sy

mw Land HYUNDAI
130 GD 2011-2017
HY-12382 HY-14386
—— Tie Rod End Stabilizer Link
0 ‘ Front Left Rear
M16X1.5  555403R000
56820A6000
HY-16389N HY-16388N

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Lower

54500A6200 54501A6200
HY-16389 HY-16388
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
54500A6200 54501A6200
HY-11380 HY-13383
Ball Joint Axial Joint
Front Front
5453035100 56540A6000
HY-19467 KI-16428
Lateral Arm Suspension Control Arm and Ball Joint
Assembly
Rear
Front Right Lower
55100A6005
54501A2600
KI-16429 KI-14436
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left Lower
54830A6000
54500A2600
HY-18370
Suspension Control Arm Repair Kit
Front
EV800228

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

PD
HY-18370 KI-14436
Suspension Control Arm Repair Kit Stabilizer Link
Front Front
EV800228 54830A6000
KI-16429 KI-16428
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
54500A2600 54501A2600
HY-19467 HY-13383
Lateral Arm Axial Joint
Rear Front
55100A6005 56540A6000
HY-11380 HY-14386
Ball Joint Stabilizer Link
Front Rear
5453035100 555403R000
HY-12382 HY-12381
Tie Rod End Tie Rod End
Front Left Front Right
M16X1,5 M16X1,5
56820A6000 56820A6090
HY-20832 HY-20833

Control Arm Bushing

Front Outer

Control Arm Bushing

Front Right Lower Inner

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

54584A6000 545513X000
1800 800
|
HY-14278 HY-14277
Stabilizer Link Stabilizer Link

Rear Left Rear Right
L=85mm L=85mm

555304H000 555404H000

HYUNDAI

2017 after

parsrot.com

24

info@parsrot.com



Rot sy

= Land HYUNDAI
1800 800 2007 after
|
HY-14276 HY-14275
N Stabilizer Link Stabilizer Link £
! Front Right Front Left !
L=275mm L=275mm
548304H000 548404H000
HY-11274 HY-12272
Ball Joint Tie Rod End
Front Lower Front Left
D=@20mm M14x1,5
545303J000 568204H000
]
HY-12271 HY-13273
N Tie Rod End Axial Joint
Front Right Front Right
M14x1,5 M14x1,5-L=231mm
568204H100 577244H100
[o]\'][e] 1st Gen 2017 after
| |
HY-14620 KI-16148

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

Front
Front Right Lower
54830F2000
54501G2100
KI-16149 HY-13623
Suspension Control Arm and Ball Joint Axial Joint
Assembly
Front
Front Left Lower
56540F2000
54501G2100
IA/BA
HY-13403 HY-12401
Axial Joint Tie Rod End
Front Front Right
L=308mm/M14x1.5 M14x1.5
54540B4000 56821B4050
HY-12402 KI-11430
Tie Rod End Ball Joint
Front Left Front Lower
M14x1.5 545302k000
5682084000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land HYUNDAI
i10 IA/BA 2013 after
|
HY-16408 HY-16409
o Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint P
Assembly Assembly
Front Right Lower Front Left Lower
54501B9000 54500B9000
HY-14397 HY-14396
Stabilizer Link Stabilizer Link
Front Left Front Right
L=229,5mm L=229,5mm
54830B4000 54840B4000
(VF)
HY-19447 HY-13433
Lateral Arm Axial Joint
Rear Front
5510032000 5772432000
HY-12431 HY-12432
Tie Rod End Tie Rod End
Front Right Outer Front Left Outer
568203V100 568203V190
HY-16448 HY-16449
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Front Left
5450132000 5450032000
HY-14430 HY-14436
Stabilizer Link Stabilizer Link
Rear Front
L=96mm 5483032000
5554032000
(JC)
HY-13364 KI-16448
Axial Joint Suspension Control Arm and Ball Joint
Assembly
Front
M16X1 ,5-L=249mm Front Right Lower
565403J000 545011P100

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

ix20

(JC)
KI-16449 HY-14366
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front Right
Front Left Lower L=216mm
545001P100 5484014000
HY-12362 HY-12361
Tie Rod End Tie Rod End
Front Left Front Right
M16x1,5 M16x1,5
568202K000 568202K050
HY-14367 HY-11205
Stabilizer Link Ball Joint
Front Left Front
L=216mm 5450331600
548301J000
1st Gen
HY-121002 HY-121001
Tie Rod End Tie Rod End
Front Left Front Right
56820M0000 56825M0000
LM
HY-19197 HY-19196
Lateral Arm Lateral Arm
Rear Upper Rear Lower
551002S050 552502S000
HY-13133 HY-12131
Axial Joint Tie Rod End
Front Front Right
M16X1,5-L=183mm M16X1,5
5772425100 568203Q500
HY-12132 HY-16139N
Tie Rod End Suspension Control Arm
Front Left Front Left Lower
M16X1.5  545002v002
568203Q000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

HYUNDAI
2010 after

2015 after

parsrot.com

27

info@parsrot.com



Rot sy

= Land HYUNDAI
ix35 LM 2010-2015

HY-14136 HY-14137
Stabilizer Link Stabilizer Link

Front Rear
L=267mm L=140mm

5483025200 5553025200

HY-14190 KI-14421
Stabilizer Link Stabilizer Link

Front Front
2013-2015 RussianMarket

548302Y500 5483025500

HY-11134 HY-16138

Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front Lower
Front Right Lower
545303S000
545012Y002

HY-16139 HY-16138N

Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower

545012Y002

Front Left Lower

545002Y002

HY-201238 HY-20845

Control Arm Bushing Control Arm Bushing
Rear Lower Front Left Lower Inner

552502S000 545012Y000

KONA OoS 2017 after

HY-13623 HY-12622
Axial Joint Tie Rod End
Front Front Left
56540F2000 56820F2000

HY-12621
Tie Rod End
Front Right
56825F2000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 28 info@parsrot.com



Rot sy

== Land HYUNDAI
MATRIX 2001-2010
|

HY-13503 HY-11205 o

Axial Joint Ball Joint 'I%J‘

- - Front Front
M14x1,5-L=322mm 5450331600

5778526200 \ )

HY-12231 HY-14236
Tie Rod End Stabilizer Link

Front Front Left
M14x1,5Rht L=60mm

5682025000 5483025010

HY-14235 HY-16498

Stabilizer Link Suspension Control Arm and Ball Joint

Assembly
Front Right
L=60mm Front Right Lower

5483025020 5450117000

HY-16499
Suspension Control Arm and Ball Joint
Assembly
Front Left Lower
555303M000
PONY EXCEL | 1985-1989
| |
- Mi-12201
o
Tie Rod End
Front Outer
M14x1,5Rht
MB527650
PONY EXCEL | 1990-1994
| |
HY-13103
Axial Joint
-ﬂ Front Inner
(1.3It) M14x1,5-L=296mm
5654243001
SANTA FE I, SM 2001-2006
| |
HY-13503
Axial Joint
- i ‘ Front
* Name of vehicles, models,'l%glol?(’(}E:nllJ _';e’r’sqarlti‘(‘)thers in this document are used for reference purposes only.
parsrot.com ‘ 29 info@parsrot.com

5778526200



Rot sy

= Land HYUNDAI
SANTA FE I, SM 2001-2006
HY-12502 HY-11805
ATk TieRodEnd  Ball Joint
Front Front Lower
MI4HA.5Rht 5453038000
568203B000
HY-16808 HY-16809
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
5450226000 5450126000
HY-14810 HY-14811
Stabilizer Link Stabilizer Link
Front Right Front Left
L=263mm L=263mm
5484026100 5483026100
HY-14812 HY-14813
Stabilizer Link Stabilizer Link
Rear Right Rear Left
L=117,5mm L=117,5mm
5553026600 5554026600
SANTA FE lICM 2006-2012
KI-19154 HY-12821
Lateral Arm Tie Rod End
Rear Right Lower Front Right
552502P010 ~ M16x1.5
568202P900
HY-12822 HY-14825
Tie Rod End Stabilizer Link
Front Left Front Right
M16x1,5 L=341mm
568202P000 548402B200
— HY-14826 HY-11805
Stabilizer Link Ball Joint
Front Left Front Lower
L=34Tmm 5453038000
548302B200

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land HYUNDAI
SANTA FE lICM 2006-2012
HY-13823 HY-16828
—— Axial Joint Suspension Control Arm and Ball Joint
N Assembly
Front
M16x1,5-L=194mm Front Right Lower
5772428000 545012B100
HY-16829 KI-16156
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Rear Right Upper
545002B100 552402P000
KI-19155 KI-16157
Lateral Arm Suspension Control Arm and Ball Joint
Assembly
Rear Left Lower
Rear Left Upper
552503J010
552302P000
HY-14827 HY-201243
Stabilizer Link Control Arm Bushing
Rear Rear Lower
L=99.5mm 5555034010
555302B200
lil, DM
HY-13833 HY-12831
Axial Joint Tie Rod End
Front Front Right
s577242w000  M16X1.5
568202W050
HY-12832 HY-16838
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left
M16X1,5 Front Right Lower
568202W000  545012W200
HY-16839 HY-14830
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left Lower L=328mm
545002W200  548302W000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land HYUNDAI
SANTA FE lil, DM 2012-2018
HY-14836 HY-14837
. Stabilizer Link Stabilizer Link
Rear Right Rear Left
L=88mm L=88mm
555402W110 555302W100
|
HY-11380 HY-20832
. Ball Joint Control Arm Bushing
Front Front Outer
5453035100 54584A6000
| |
HY-20608
- Control Arm Bushing
Center
54551-2E000
(1.51) 1990-1995
|
HY-16126N HY-12101
Suspension Control Arm Tie Rod End
Front Left Lower Front
5450224101 5682021110
HY-16125 HY-16126
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

SCOUPE

5450324000 5450224000
HY-16125N HY-11105
Suspension Control Arm Ball Joint

Front Right Lower

Front Upper

5450324101 5453024A00
)] 1990-1996
|
HY-11105 HY-13103
Ball Joint Axial Joint
Front Upper Front Inner - e
5453024A00 (1.31t) M14x1,5-L=296mm
5654243001

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land HYUNDAI
SCOUPE (1.51) 1990-1996
HY-16125N HY-16125

Suspension Control Arm

Front Right Lower

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

1994-1996

2009-2014

5450324101
5450324000
HY-12101
Tie Rod End
Front
5682021110
SCOUPE (1.51)
HY-16126 HY-16126N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Left Lower
Front Left Lower
5450224101
5450224000
SONATA 6th Gen, YF
|
HY-19197 KI-19507
Lateral Arm Lateral Arm
Rear Upper Rear Lower
\ 5510025050 5525035000
|
HY-16538 HY-16539
o Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

Front Right Lower

5450135000 5450035000
KI-16548 KI-16549
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

545014R000 545004R000
|
KI-16558 HY-16538N
—— Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower

Front Right Lower

2013-2015 5450135000
545014C000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

33

info@parsrot.com



Rot sy

= Land HYUNDAI
SONATA 6th Gen, YF 2009-2014
HY-16539N HY-14846
Suspension Control Arm Stabilizer Link
Front Left Lower Front

545003S000 548403R000AS

KI-16559 HY-14847

Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left Lower
2013-2015 548303R000DS
545004C000
HY-201239
Control Arm Bushing
Rear Lower
5525035000
SONATA 7th Gen, LF 2015 after
| |
HY-16548 HY-16549
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Assembly Assembly
Front Right Lower Front Left Lower

54501C1000 54500C1000

HY-16548N HY-16549N

Suspension Control Arm Suspension Control Arm
Front Right Lower Front Left Lower

54501C1000 54500C1000

SONATA | 1988-1993
I I
HY-12502
-_?:} Tie Rod End
Front
M14x1,5Rht
5682038000
SONATA I 1993-1998
I I
HY-14510

Stabilizer Link

Front
* Name of vehicles, models, logos, OE nurlnbe‘r:s and others in this document are used for reference purposes only.

e
Oz

5483034500

info@parsrot.com



Rot m=y
= Land HYUNDAI

SONATA | 1993-1998

HY-13503 HY-11505

Axial Joint Ball Joint

- e Front Front
M14x1,5-L.=322mm 5452031600
5778526200
1

HY-14511 MI-12301

v’m Stabilizer Link Tie Rod End

i Rear Front

A L=60mm  \B16286
: « 5558037020

SONATA i

HY-13563 HY-12561
Axial Joint Tie Rod End

Front Front Right
M14x1,5-L=166.5mm M14x1,5

5772438010 5778038010

HY-12562 HY-11564

Tie Rod End Ball Joint

|
|
L)

. Front Left Front Lower
“_ M14x1.5 5176038000
|
|

5778038000

HY-16568 HY-16569

Suspension Control Arm Suspension Control Arm

Front Right Lower Front Left Lower
2.016V-2.5V6 2.016V-2.5V6

5450138010 5450038010

HY-18555 HY-14512

—— Suspension Control Arm Repair Kit Stabilizer Link

Front Rear
EV428 Only:2.016V L=180mm

5553038010

HY-14550 HY-14551
Stabilizer Link Stabilizer Link

Front Rear
L=102,5mm L=193,5mm

MB573540 5553038600

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 35 info@parsrot.com



Rot sy

== Land HYUNDAI
SONATA il 1998-2001
|
HY-11565
Ball Joint
Front Upper
5440338A00
SONATA 2001-2004
HY-11565 HY-14551
Ball Joint Stabilizer Link
Front Upper Rear
5440338A00 - 193:5mm
5553038600
HY-16596 HY-16597
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Upper
5442038000

Front Left Upper
5441038000

HY-18560

Suspension Control Arm Repair Kit

HY-16569

Suspension Control Arm

Front Right Lower
2.016V-2.5V6

Front Front Left Lower
EV428 2.016V-2.5V6
5450038010
HY-16568 HY-11564
Suspension Control Arm Ball Joint

Front Lower

5176038000
5450138010
HY-12562 HY-12561
Tie Rod End Tie Rod End
Front Left Front Right
M14x1,5 M14x1,5
5778038000 5778038010
HY-13563
Axial Joint
Front
M14x1,5-L=166.5mm
5772438010

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 36 info@parsrot.com



Rot sy

mw Land HYUNDAI
SONATA 2004-2010
HY-20608 HY-20633
g, Control Arm Bushing Control Arm Bushing
Center Rear
54551-2E000 545841G000
HY-13573 HY-12571
Axial Joint Tie Rod End
Front Front Right
M16X1,5-L=180mm M16X1,5
577243K000 568203K010
HY-12572 HY-11574
Tie Rod End Ball Joint
Front Left Front Lower
M16X1.5  517603K000
568203K000
HY-16580 HY-16581
Suspension Control Arm Suspension Control Arm
Right Lower Left Lower
545013K500 545003K500
HY-14576 HY-14577
Stabilizer Link Stabilizer Link
Rear Front
L=79mm L=150mm
555303K002 548303K010
HY-16579 HY-16578
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Upper
544103K000

Front Right Upper
544203F601

HY-11575
Ball Joint
Front Lower

544303K000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 37 info@parsrot.com



Rot sy

== Land
STAREX GED)
MI-11206 HY-13243
M Ball Joint Axial Joint
Front Upper Front
MB527349 M14x1.5-L=292mm
577294A000
HY-13253 HY-12241
Axial Joint Tie Rod End
Front Front
M16x1.5-L=300.8mm M14x1,5
577294A010 568204A600
HY-11255 HY-16256
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front Lower
Front Right Lower
5453047000 Only:PanelVan
545014A600
HY-16257 HY-16258
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
Only:PanelVan Only:Pick-Up
545004A600 5450147000
HY-16259 HY-16256N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
Only:Pick-Up 545014A600
5450047000
HY-16257N HY-16258N

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Lower

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

545004A600 5450147000
HY-16259N HY-14249
Suspension Control Arm Stabilizer Link
Front Left Lower Front
5450047000 ~ L-=O0MM
548304A003

HYUNDAI

1996-2007

parsrot.com

38

info@parsrot.com



Rot sy

== Land HYUNDAI
STAREX (H1) 1996-2007
|
HY-14250
Stabilizer Link
i Rear
h L=115mm
MR267875
TERRACAN HP 2001-2006

HY-23481482 HY-12481
Steering Tie Rod Assembly Tie Rod End
Front Outer Front Right Outer
56850H1011 56850H1011

HY-12482 HY-14486
— Tie Rod End Stabilizer Link
Front Left Outer Front Right

56850H1011 54823H1000AS
HY-14487
Stabilizer Link
Front Left
54822H1000AS

TIBURON 2002-2009

HY-16528

Suspension Control Arm and Ball Joint

HY-11525

Ball Joint

Assembly
Front Lower
Front Right Lower
5450338A00
545012C000
HY-16529 HY-12231
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front
Front Left Lower M14x1 ,5Rht
545002C000 5682025000

TRAJET 2000-2008

* Name of vehicles, models, logos, OE nurlnbeé

HY-14156

Stabilizer Link
ont Right
54

agd others in this document are used for reference purposes only.

o
1= A

548403A000

info@parsrot.com



= Land HYUNDAI
TRAJET 2000-2008
|
HY-14157
y \ Stabilizer Link
o Front Left
\ @ J L261mem
548303A000
TUCSON 2nd Gen 2010-2015
HY-19197 Ki-14421
£ .. Lateral Arm Stabilizer Link p \
@ Rear Upper Front @
\ Ny 5510025050 RussianMarket ' \
5483028500
TUCSON JM 2004-2010
HY-19337 HY-13333
Lateral Arm Axial Joint
Front

. @ . Rear

556220-2E010

L=243.7mm-M16x1,5Rht.
57724-2E000

HY-12331 HY-12332
Tie Rod End Tie Rod End
Front Right Front Left
M16x1,5Rht M16x1,5Rht
568202E900 56820-2E000
Kil-11414 KI-11415
Ball Joint Ball Joint
Front Front Lower
51770-2E000 5
KI-16418 KI-16419
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
54501-2E030

Front Left Lower

54500-2E030

KI-16418N

Suspension Control Arm
Front Right Lower
54501-2E030

KI-16419N

Suspension Control Arm
Front Left Lower

54500-2E030

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land HYUNDAI

2004-2010

TUCSON JM

HY-14338
Stabilizer Link

Rear
L=219mm

55530-2E000

HY-14339
Stabilizer Link

Front
L=238mm

54830-2E000

Front Left Lower

HY-20633 HY-20608
Control Arm Bushing Control Arm Bushing
Rear Center
545841G000 54551-2E000
TL
KI-13593 HY-11414
Axial Joint Ball Joint
Front Front Right Lower
57724D3100  HY-10419
54501F1000
HY-11415 KI-11594
Ball Joint Ball Joint
Front Left Lower Front Right Lower
HY-10.419  54530c1100
54500F 1000
KI-11595 HY-16418
Ball Joint Suspension Control Arm and Ball Joint

Assembly
Front Right Lower

54530C1000
54501D7000
HY-16419 HY-16418N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
54501D7000
54500D7000
HY-16419N  KI-14580
Suspension Control Arm Stabilizer Link
Front Left Lower Rear
54500D7000 55530D3000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 41 info@parsrot.com



—
sy L and

HYUNDAI

————— _______ _____________________________________—— "]
VERACRUZ 2008-2015

HY-14826 HY-14825
— Stabilizer Link Stabilizer Link —
Front Left Front Right
L=341mm L=341mm
548302B200 548402B200
HY-12822 HY-12821
Tie Rod End Tie Rod End
Front Left Front Right
\ M16x1,5  M16x1,5
568202P000 568202P900
HY-13160 HY-11274
— Axial Joint Ball Joint
Front Front Lower
M16X1,5-L=218mm D=@20mm
577243J000 545303J000
1998-2001
HY-11564 HY-16568
Ball Joint Suspension Control Arm
Front Lower Front Right Lower A
5176038000 ~ 2>016V-25V6
5450138010
HY-16569
Suspension Control Arm
Front Left Lower
2.016V-2.5V6
5450038010
2002-2005
HY-11564 HY-12562
Ball Joint Tie Rod End -
Front Lower Front Left N
5176038000  M14X15 “-
5778038000
HY-12561 HY-14551
- Tie Rod End Stabilizer Link
N . ‘ Front Right Rear ‘_T
M14x1,5 L=193,5mm
5778038010 5553038600

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rof m=y
= Land HYUNDAI

XG350 2002-2005

HY-14550 HY-11565
Stabilizer Link Ball Joint
Front Front Upper

L=1025mm  5440338A00
MB573540

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 43 info@parsrot.com






